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IBGL |Fovy| K¥E | &S BFA 4 | E# | YDS [LONG| SAF
1 T AKX 9 (B =% 4 4 34 13 0
2 T EBK 45 (B & 4 3 32 14 0
2 T IHK 97 |hIE BA 4 3 23 9 0
2 T IMHK 9 |v—7+> HAX 2 3 15 6 0
5 T AKX 50 |[/KEB (&8 2 2 20 11 0
5 T HEK 41 | KB BT 4 2 20 10 0
5 T SRR 97 |lLAE FEB= 4 2 19 13 0
5 T BFEH 20 |(ZEHE XBED 4 2 15 9 0
5 T BRsAX 91 |IUFT #EX 4 2 15 8 0
5 T FREM 41 |&HB —# 4 2 14 8 0
5 T BEM 99 |[¥Yy¥h—IL FHE 2 2 14 7 0
5 T REX 91 |&% BE 4 2 12 10 0
5 T FRIER 43 |HRIB B 1 2 9 7 0
5 T RRX 9 |[#EaK #HE 3 2 7 5 0
5 T FRER 60 |HeF X 4 2 5 4 0
16 T HEK BT E& 3 1.5 5 3 0
17 T FRIER HE Rt 4 1 19 19 0
17 T FRERK 49 |hHt HE 3 1 15 15 0
17 T EBK 5 [N EE 4 1 11 11 0
17 T EBK 47 |® EF 3 1 1 11 0
17 T EiE PN 52 |[f@E BZ 3 1 1" 11 0
17 T VA PN 44 |BE S 2 1 11 11 0
17 T BEREX 6 |[HEF HKH 3 1 9 9 0
17 T EBK 24 |EE Bt 4 1 8 8 0
17 T BEX 42 |ED B 2 1 8 8 0
17 T BfEHE 5 |FE B 3 1 7 7 0
17 T 2P PN 40 |HE B 3 1 7 7 0
17 T HEK 58 [fHkR =zX 3 1 7 7 0
17 T FRIER 50 |[#Nl Kig 3 1 7 7 0
17 T EBK 94 |HH #E 3 1 6 6 0
17 T IHK 51 |BH && 2 1 5 5 0
17 T FREM 91 |#K X 2 1 5 5 0
17 T E PN 6 |[BEAR #X 3 1 4 4 0
17 T EPEPN 96 [hH Xx— 2 1 4 4 0
17 T BEREX 55 [lLE mE 2 1 4 4 0
17 T PPN 99 (R & 3 1 2 2 0
17 T BEEX 4 |BH E 3 1 1 1 0
17 T BEEX 50 |@E$ EF 2 1 1 1 0
39 T BHERK 97 [N =E 4 0.5 3 3 0




